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Question 1. Simplify:

(a) 5ab-7+3ba~9=
(b) —8p* x4p’g=

2 1m""1ra*J

© lagp® :

- Question 3 (continued)

63) (r‘+11)(z—11):

(g) (3m - 1)(7m + 5) =

(h) (2x-3y)(2x+3y)=

~

Question 2: Write as a single fraction:

3x 2x
a) —+-—=
(-)10 15

2m  m

® % 2

Question 3. Expand and simpli%%:

(a) -7(a—-3)+15=
(b) 15-(2m-7)=
(©) 6(x+7)-5Bx—2)=

(d) (a+7)b-3)=

(e) (x+4) =

Question 4: Factorise:

(a) x*-7x+12 =
(b) m® 16 =

(c) 3t* +18t+15 =
(d) 4" ~7q-2=

(&) 6+7c-3c? =

() #*-16v* =

(8) K -27 =

t

‘ /
(B 8d° +48 =
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@ x*-16

2x® +8x? .

m* +5m-6 3

b -
( )m2+7m+6

n -9 n*-25
2 = X 2 :,,‘
n —-6n+5 n*-11ln+24

©

8 451
4° =36 12 486415

(d)

Question 5. Factorise and simplify:

Question 6: Simplify;

x y

4 3
b - -
()azbc abc?

4 3
c + =
(')vx—l x+2

7 5
@) ===
_ 3 (y+3)

4 3

(e)

2 + 2 =
P —-p-2 p +3p+2 .-

Y19 Alg. Test (a)
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NAME: SoLuTons

Question 1: Simplify: N_— Question 3 (continued) v
(a) Sab~7+3ba-9= / ® (r+11)(r~11) - /L [ /
o Bl ~16 ) J
© 2(ab-2 z ' o —
(b) ~8p* x4pq = © Bm-1)7m+5)= Sl ~Tmr $AS 1 =5
=) B~ 32 CL .
P A S Z
= Fe /vv\ > -—
()21mjp7__ 2/1"’” e + wvn -5
/ 14mn® J/(V\ , - ,5 (h) (2x—3y)(2x+3y): . L
z . Q?- x ) -C 34 ) /
2 3 = S Go? —9.2 %

Question 2: Write as a single fraction:

3x 2x

@ —+—= sz ¢ XX
‘/10 15 B ?D/., b
‘ z 13X .
2m  m -
R TRE PRI L A
p " ep ép
3 e
©Z+—= éz T2
a a .

Question 3: Expand and simplify’

(a) —7(a-3)+15= s
RS
®)15-Q2m-T)= |5 _ T4
S YTl 2
(c) 6(x+7)—5(3x3/)\=/\1W
J ext &2 ~(62 « /b/

.52 —Aoc
() (@+7)p-3)=
J o([a « 7hh - 3a = 21

Question 4: Factorise:

(b) m?—16 = - ¢ X
/: ) (pvx.(.ﬁ« C"'—" (r\
(c) 3> +18¢t+15 = : A4

/p 2 GG
[ A

(5, )
(d)4q ~7q 2=
G -2

s~7

(&) 6+7c 3fc

(c, % 7c ®6 ) e
w /zg -fQ Gc, +2>CC\

—
r\@
5
<J>
I
N
‘&
w

(&) " = 7x+12 = (xw & )(x~-3 >/

-
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Question 5: Factorise and simplify:

C(x-%) (k—f—%\
2x° +8x? sz&ﬁﬂ-

X -4

>t V/

Qm{\é ) CM—I)
VN

@) —=——

-~

!

m* +5m—6 3
m*+Tm+6

J “CM)(W*D
i

(b)

o~ ~ )
—/

-t

.

© n: -9 y n* —25 B
n—6n+5 n*-1ln+24

TR (e} Tnde J(nes)

@242z

x5

4 3

a’bc  abe®

4 3
x—-1 x+2

(©

Question 6: Simplify:

X oy 37T;L

4C - 361

.tél/ /

G + @ < 3&6‘5

- Jx e 5

-

7 5
@ y+3 (y+3)

(LAY
o=z ) (0 -1 Cn-2) (s
i/ LV\—vg )(D‘ff\

/%\

Q/\~l )(M*Q\

B 1’45t
4% -36 t+8t+15

2 g}km;/yfj”
%C¢z)&ffﬁﬁﬁ}7

(d)

Y s

(&) ——2

(o 1) (\7{+2>

.7}1—2[ ~ 5

(6¢+2)%
73+/)6 /
(93 )

3

<

(P-2)(p+1)

¢ (p+2)

—

2 + 2 =
‘D p-2 p +3p+2

3

‘(’_______/\

CP“"Z)(JO+I>

« 3(p-2)

Q(b—'z) C/O* 2) (lo“E l)

- Sp 2 = 3/9“—

) Cp - Z)C/O*Z>(/O+ .
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+ 2 /2

(0-2)(p+2) (p+])




